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QUESTION 1 Sdvho:

A high-rise building provides shop-lots to be rented. Rent is cheaper on the upper floors of

4925 4625, 4315, . Q=495 4=-%0

shop space. The ground, first, and second floors rent for RM4,925 | RM4,625 | and RM4,325 T =4 (” ') J
+

(5 marks) = 3025+ 10(300) = M1, %S Fot

per month, respectively. How much is the rent on the eleventh floor?

QUESTION 2 Solwhe :

Mary invested in an investment fund that offered a simple interest rate of 6% perannum. After

r=6) , S$<8a00 , teSmorig@ %yw.

5 months, the investment was worth RM8,200. Find the principal amount of the investment. f: S’( ) _} I"t) I
(5 marks)
= 8 (140. o(.(%))
= A 3o ¥l
QUESTION 3 !wH m:
a) Sara needs RM45,500 now. Find the amount that she should borrow from a bank if a e) rmM &SI b) P= /S,m P re ¢ 7‘
bank discount of 2.5% is charged for 2 months' repayment. ‘ 23 ‘5 ° IS Jen (3 - /S') < '/‘
(5 marks) / r Feb p) 4

20 Mer 20
b) A promissory note of RM15,800 was issued on 15 January 2021 with a simple interest H S’( |- )

_ _ o4
rate of 6% per annum. The note matured on 20 March 2021. Find the maturity value of the f; 0= S(I f. 05(/6)) s= P(H-VC )

note.
Emaks)  S=RM IS [85-9% = /580 1~ 0 06(3._’(&\)
o | =l 9eg53,
e

QUESTION 4 e :
= ¢ 7
An amount of RM5,000 was deposited 4 years ago in a savings account that paid interest at Ss 00 t2 ,")'DB L
5% compounded every 2 months. Today, another RM2,5_(]_D_|5 deposTled into the account. Find k - 57‘ m<G . 0,.
the accumulated amount at the end of 7 years from the initial deposit. < 5000 (I + 008 )1_4 (H' L)
(8 marks) a T 0. OS 8
=R G10(.98 6 lo} 4(1422>)
= A 7,085. 05
b Xl
QUESTION 5 Solwhon :
A‘ © k < S <
A bank received equal monthly payments for giving a loan of RM80,000 to its customer. The R 80' 000 t IOYM :I'{, 7" m 2
term of the loan is 10 years and the interest rate charged is 7.65% compounded monthly. T"’H we “A """‘! M"Lj ?' M R
Every month, the bank immediately deposits the same amount of monthly payments received A R (- (l -ﬂ,l\
from the loan into an account that pays 7% compounded monthly. Find the total interest [
; 20
eamed at the end of 10 years of deposits.
pno= R )- (\+‘°?‘/n ‘)
(10 marks)
0-6346C/h,
k= AM9SS. 8.
* \h
R [( M) -t
Note: fov Hhis 1wrh'~M , et ot F30 1Mt o ound ¢ .
0-
————
0.6
“ Total Ideroot = (Ra-A) ¢ (g-a..) "
- 9-A <. Topel fefer = 8 A

\/ = /6(,“(0-0&—?0,0&0
= {3 - 03
Rm 85, §oo fo/S‘-
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QUESTIOM &

a) Shahmi bought a washing machine with a cash price of RM4 500. He paid a 5% down
payment and the balance was setiled by making 24 monthly installments. If the interest rate
charged was 3% per annum based on the original balance, find the monthly payment and the
installment price.

(8 marks)

b) Malik purchased a used car with a cost of RM25, 000 under an installment plan. The
purchase was settled in 4 years with equal monthly installments and the interest charged is
3.5% per annum based on the reducing balance. Find the outstanding balance if Malik decides
to settle the loan immediately after the18" payment by using the Rule of 78.

(8 marks)

Sohdtion ¥} = 5w Tebt

bP= 225 =4 % 0-03 x 2

B - 4)1; = Z ~§b
s 2l k= BHD . WAORSY L0 og)

. W P
rs 39 GV\&MJ b.(anu,} alf

P P+ Yoo+ 2550 =kmtp,151,.;b{
L]

By b=25,00 t:gyqewt  wwerk s 3.6, (wdm'.,ﬁ balomes )
I= Belnan) _ 2500 (0o3s)(ubt) = y3g¢.4( - R= ZWOIRNW
2 2() : ‘¢
. = 5%5%.0%
M«Muj Balwmee |, k=lg -1 = %0

= Rl - T (kD) _ (WO"“'\
= Ric- T (042 ) < g5e05 () - 14 | T

1}

R AL, 0.1+ Eanig

QUESTION 7

a) The trade discounts of 15% and 8% and the cash discount terms of 3/15, 2/20, n/30 lg J\Jl (%, IS) = lb

were given on an invoice dated 15 July 2021. If the total amount paid on 4 August 2021 is q'

RMT7T,450, find the list price of the items. ﬂ S.
(5 marks)

b) A retailer bought wood stoves at a listed price of RM850 per unit with trade discounts

of 25% and 5%. Calculate the amount of trade discounts received.

(5 marks)

ot :
&) d=ivh 428 =20 WpeFuso by e 880 4= 28) dy: 6

b
NP < Lp(i=ch) (14, )(1-c )+ 48 NP= Lo (14 )0 - )
7450 = Lp (1~ 015)( 1-0.08 )(1-D.02) . ?90(116-19)0 ~0.05)

2 = 0% .62¢
Lp - i < Rm 7029
(0-85)(0- 92 (0-9¢) Ao

< TD= Lp- D
= B0 - 6156k RN 24y 38,
ons-
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QUESTION &8

a) A retailer bought 60 units of books at RM50 each and sold all at a mark up of 30% based

on cost. The operating expenses were 10% based on cost. Calculate the selling price for each
book and the total net profit obtained.

(7 marks)

b) The cost of a pack of chocolates was RM90D. S5 Mart wanted to sell 30 packs for a
gross profit of 40% based on the selling price. Howewver, only ¥ packs were sold. The

remaining of chocolates were sold after 25% marked down. Find the total sales of selling 30
packs of chocolates.

(8 marks)
Salwhon: Soluh m:
&) Cotk < nW\gb[Q“d"' b) Cote N"“O,Pdg 44 1 Pcwrm* RM |9b/\oub\
n= %07 o celt 4p= 1T} 8 R = 150 ¢ F = 1050
Ob < o) m ol Nhe 259 Sold 23 poth ok 267, D.
= O.'F['g(\go) X 23 pasus
p=Cm Tl WP R=C+p = 215%3-50
= C403C = 02C ¢ bb v %= 20+b-4
= 1-3C "0"2(9)&6’0 9\); Q%() = l% TB-M Sz leo
< 1-5(50) = R boo ¢ = 1050 + 2583 5D
= AM G5 eeck g = Rwm 3, b3%. Py
QUESTION 9
a) The cost of a machine is RME5 ,000. If the book value of the machine at the end of the

2nd wear is RM41 600, calculate the rate of depreciation using the reducing balance method.
(5 marks)
b) AMD Company bought an excavator for RM72,000. The useful life of the excavator is

8 years._ If the book value of the excavator at the end of 4 years is RM42 000, find its scrap
value using the straight line method.

(5 marks)
Soluhe :
&) C=RWMLH000  BV,- reilhy,poo by C=hmPFacod n<kyws  BY=RME 080
= ]-" &V USﬂ"j .(ﬂ"“wjh" Gne method -
¢ Ap = C BV . 2,800 - 42,000
—_ ¢ ¥
= - | Yieeo = 2,500
\ 5,60 &‘Jﬂfl/q/mq . 0 it
- O.')_Q ’2,07.,}? = %;L,GM) - 2(’]./3—-51))
! = km
ad R /.l,a-uo)/& e
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QUESTION 10

Encik Imran and his wife with 3 children had a combined annual income of RM110,000 in
2020. The eldest child is studying at the local university and the other two are at secondary

school. Their expenditures (in RM) for the year are as follows.

Imran Wife

EPF Contributions 6,500 3,700
Life Insurance Premium 2,200 1,800
Parents Medical Bill 3,500 1,200
Cash Donations 500 -
Books and Magazines 1,000 -
Sports equipment 200 -
Zakat 1,200 600

Assess their tax payable for the assessment year 2020 if they choose joint assessment.

Aggregate Income 110,000
Donation 500
Total Income| 109,500
Relief
Self| 9,000
Wife| 4,000
Children: 2x 2,000] 4,000
1x 8,000 8,000
EPF & LIP| 7,000
Lifestyles| 1,200
Parents Medical Bill| 3,500 Total Relief| 36,700
Taxable Income| 72,800
Using Tax Rate Table
On the first 70,000] 4,600
On the next 2,800 x 21% 588 Total Tax| 5,188
Rebates
Zakat| 1,800, Total Rebates| 1,800
Payable Tax| 3,388
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(10 marks)

APPENDIX 1

TAX RATE SCHEDULE FOR PERSONAL INCOME

Taxable Income Tax
Rate
(RM) (RM)

On the first 5,000 0 0
On the first 5,000 0
On the next 15,000 1 150
On the first 20,000 150
On the next 15,000 3 450
On the first 35,000 600
On the next 15,000 8 1,200
On the first 50,000 1,800
On the next 20,000 14 2,800
On the first 70,000 4,600
On the next 30,000 21 6,300
On the first 100,000 10,500
On the next 150,000 24 36,000
On the first 250,000 46,900
On the next 150,000 245 36,750
On the first 400,000 83,650
On the next 200,000 25 50,000
On the first 600,000 133,650
On the next 400,000 26 104,000
On the first 1,000,000 237,650
On the next 1,000,000 28 280,000
On the first 2,000,000 517,650
On the next Every RM after 30 B
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